Arabic HW [5]
Complete the missing letters or Harakat.
2F means two females, 3+F means three or more females. 
2M means two males, 3+M means three or more males.

	
الْبِنْت شَاطِرَة

	
The girl is clever.

	
الْوَلَد شَاطِر

	
The boy is clever

	
الْبِنْتَ؟نِ شَاطِرَتَ؟نِ

	
The girls2F are clever2F

	
الْوَلَدَ؟نِ شَاطِرَ؟نِ

	
The boys2M are clever2M

	
الْبَنَات شَاطِرَات

	
The girls3+F are clever3+F

	
الْأَولَاد شُطَّار

	
The boys3+M are clever3+M

	
الْاعِبَ؟نِ وَاقِفَ؟نِ
	
The players3+F are standing.




	
بِنْت شَاطِرَة

	
A clever girl

	
الْوَلَد الشَاطِر

	
The clever boy




	
بِنْتَ؟نِ شَاطِرَتَ؟نِ

	
Clever girls2F

	
وَلَدَ؟نِ شَاطِرَ؟نِ

	
Clever boys2M

	
بَنَات شَاطِرَات

	
Clever girls3+F

	
الْأَولَاد الشُطَّار

	
The clever boys3+M

	
لَاعِبَ؟نِ وَاقِفَ؟نِ
	
Standing players3+M




